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Which of the following is characteristic of true labor?
(A) irregular contraction

(B) discomfort restricted to lower abdomen

(C) cervix dilates

(D) discomfort relieved by sedation

. What kind of the labor stage is that begins when dilatation of the cervix

1s complete and ends with delivery of the fetus?

(A) first stage of labor

(B) second stage of labor

(C) third stage of labor

(D) fourth stage of labor

What is not the sign of labor?

(A) uterine contraction that bring about demonstrable effacement and
dilatation of the cervix

(B) irregular uterine contractions

(C) rupture membranes

(D) bloody show

What is the most important force in the expulsion of the fetus?

(A) cervical softening

(B) uterine contractions

(C) maternal intra-abdominal pressure

(D) oxytocin concentration

What is the average duration (hours) of the first stage of labor in

nulliparous women?

(A5

(B) 7

(€ 12

(D) 20

What is the characteristic of myometrial contractions that do not cause

labor?

(A) not intense

(B) brief in duration

(C) unpredictable

(D) all of the above

The first stage of labor is best characterized by which of the

following?



10.

11.

12.

13.

(A) cervical effacement and dilatation
(B) delivery of the fetus
(C) uterine preparedness for labor
(D) separation and expulsion
What 1s the station where the presenting part is at the level of the
ischial spines?
(A) -2
(B) -1
© 0
(D) +1
What is the most reliable indicator of rupture of the fetal membranes?
(A) fluid per cervical os
(B) positive nitrazine test
(C) positive ferning
(D) positive oncofetal fibronectin
How long (hours) of the first labor stage in nulliparous women
indicates prolong latent phase?
(A5
(B) 14
(C) 20
(D) 28

Tubal and peritoneal factors account for 30-40% of cases of female
infertility. Which technique is not used to assess tubal patency?

(A) Hysterosalpingography.

(B) Falloposcopy.

(C) Sonohysterography with contrast media.

(D) Hysteroscopy.

(E) Laparoscopy.

The most thorough technique for diagnosing tubal and peritoneal
disease 1is:

(A) Hysterosalpingography.

(B) Falloposcopy.

(C) Salpingography.

(D) Hysteroscopy.

(E) Lapaprscopy.

Hysterosalpingography (HSG) is the initial test used to assess tubal
patency. Which one is not the cause of tubal blockage?



14.

1.

16.

17.

18.

(A) salpingitis isthmica nodosa,
(B) septate uterus.

(C) Tubal endometriosis.

(D) Tubal spasm.

(E) Intratubal mucous debris.

During menses, HSG will increase the incidence of vascular
intravasation caused by dilatation of periuterine veins, and risk
of infection and endometriosis. Therefore, HSG usually is performed
between cycle?

(A) day 1-5
(B) day 6-11

(C) day 14-16

(D) day 16-20

(E) day 21-25

Which one is not the complication of HSG?

(A) pulmonary infection

(B) cervical laceration

(C) uterine perforation

(D) vasovagal reaction

(E) allergic response to the contrast dye

Which one is not formed by the fusion of two mullerian ducts?
(A) uterine body

(B) cervix

(C) upper one third of the vagina

(D) upper two third of the vagina

(E) lower one third of the vagina

Which one is the result of obstetrical significance from uterine
anomalies?

(A) miscarriage

(B) ectopic pregnancy

(C) preterm delivery

(D) abnormal fetal lie

(E) all of the above

Which uterine anomaly usually does not need surgical correction?
(A) unicornuate uterus with noncommunicating horn

(B) uterine didelphys

(C) bicornuate uterus

(D) septate



(E) none of the above
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21. What is the indication for a primary ceserean delivery?
(A) fetal distress
(B) dystocia or failure to progress

(C) placenta previa
(D) all of above

22. Which of the following best describes a complete breech presentation?
(A) lower extremities flexed at the hip and extended at knees
(B) lower extremities flexed at the hips and extended one or both knees
flexed
(C) one or both hips not flexed or both feet or knees below breech
(D) a foot is in the birth canal

23. When examining a women at term, hearing fetal heart tones loudest above

the umbilicus suggests which type of presentation?

(A) cephalic presentation



(B) transverse lie
(C) breech presentation
(D) multiple pregnancy
24. Which of the following i1s NOT a direct complication of delivery using
the vacuum extraction?
(A) cephalohematoma
(B) intracranial hemorrhage
(C) retinal hemorrhage
(D) newborn acidemia
25. What are the cardinal movements of labor (in order)?
(A) descent, engagement, flexion, internal rotation, extension,
external rotation, explusion
(B) engagement, descent, internal rotation, flexion, external
rotation, extension, explusion
(C) engagement, descent, flexion, internal rotation, extension,
external rotation, explusion
(D) engagement, descent, flexion, extension, internal rotation,
external rotation, explusion
26. What is a laceration involving the skin, mucous membrane, perineal
body, anal sphincter, and rectal mucosa called?
(A) first degree
(B) second degree
(C) third degree
(D) fourth degree
27 What 1s the primary mechanism of placental site hemostasis?
(A) vasoconstriction by contracted myometrium
(B) prostaglandin secretion
(C) maternal hypotension
(D) decrease cardiac output
28. During the third stage of labor, which of the following is NOT a sign
of placental separation?
(A) gush of blood
(B) uterus rises in the abdomen
(C) umbilical cord protrudes farther out of the vagina
(D) painful uterine tetany
29. Which of the following is NOT part of the Apgar score?
(A) heart rate
(B) respiratory effort



30.

31.

(C) color
(D) amniotic fluid consistency
What is the Apgar score of a male infant at 5 min of life whose
respiratory effort is irregular, pulse is 90, who is floppy and blue
and with only minimal grimaces?
1 1
(B) 3
(€5
(D) 7
Which of the following is true regarding risk factors for breast
cancer?
(A) Most women who develop breast cancer have a family history.
(B) Having a sister who developed breast cancer postmenopausally
significantly increases the risk of personally developing
breast cancer.
(C) Menstrual irregularity is clearly an associated risk factor.
(D) Nulliparity increases the risk of breast cancer.

32. Which of the following is true regarding estrogen replacement therapy

33.

34.

and breast cancer?
(A)Significantly increases the risk of breast cancer development if
used less that b5 years
(B)Should be discouraged in postmenopausal women.
(C)E strogen replacement therapy can reduce the risk of osteoporosis
and heart disease
(D)Is best given continuously and without progestins.
Screening mammography
(A) Contributes to improve survival in women younger than 40 years
(B) I's complementary with physical exam because 10% to 20% of palpable
lesions are not seen mammographically.
(C) Along with ultrasound is a standard screening toll for breast
cancers.
(D) Is much more sensitive that magnetic resonance imaging(MRI) for
the detection of small lesion
Which of the following statements is true regarding breast masses?
(A) Ninety percent of clinically benign masses will be proved benign
by biopsy.
(B) Fine—needle aspiration (FNA) is exquisitely sensitive in
detecting carcinoma in palpable masses, helps with planning, and



has a 0% false positive rate.

(C) Breast masses can be followed for one or two menstrual cycles if

clinically benign in premenopausal women.

(D) When cytology is negative based on FNA, breast masees are
considered benign and can be ignored, even in postmenopausal
women.

35.0f the following statements, which is true regarding breast tumors,
especially cancerous ones?

(A) They are asymptomatic and are discovered only by physical
examination or screening mammography.

(B) They are typically symptomatic and are more likely to be
discovered by the patient.

(C) They are most likely to be discovered by routine palpation by
thephycianl at the time of an annual physical examination, but
not by mammography.

(D) They are most likely to go undetected until diseases has spread
and they produce symptoms in other organs.

36. A 65 year-old postmenopausal woman presents with a 1.5 cm breast mass
in the left upper outer quadrant. The most appropriate management is

(A) Lumpectomy and axillary node dissection based on a suspicious
mammographic finding

(B) Observation based on a negative fine needle aspiration cytology

(C) A 2-week period of observation

(D) Lumpectomy and axillary node dissection based on a fine- needle
aspiration cytology.

(E) Fine- needle aspiration followed by mammography.

37.Biopsy is indicated in which of the following situations?

(A) A bloody FNA of a palpable mass

(B) A clear aspirate on three occasions of a persistent breast mass

(C) Equivocal findings on FNA of a palpable mass

(D) A palpable mass in a postmenopausal woman

(E) All of the above

38. A 36 year-old woman presents with a tender swollen breast. The symptoms
occurred acutely. She has a swollen left breast that is warm, tender,
and red. She is unable to tolerate mammography. An ultrasound
examination 1s performed, which reveals a multiloculated mass. The
best recommendation is

(A) Excision of mass



(B) Fine-needle aspiration , cytology, culture and antibiotic id
purulent

(C) Neoadjuvant chemotherapy

(D) Incision and drainage of an abscess

39. A 36 year-old nonlactating woman presents with a 2 month history of

bloody nipple discharge from her left breast. No mass is palpable on

physical examination. The most appropriate management is

(A) Measure serum prolactin and TRH levels

(B) Obtain cytologic examination of the bloody nipple discharge
(C) Obtain ductography

(D) Observation alone

(E) Excision of the involved duct

40. Which of the following is a risk factor of breast cancer

41.

43.

(A) Mother-in-law with breast cancer history
(B) Vegetarian

(C) Cervical cancer history

(D) Menarche at 11 year-old

(E) Ectopic pregnancy history
FERHETERREY TR we?

(A) Bk 4 mve

(B) Hk + A fme

(C) mb g &

(D) b g2t

. B A 3 & ed(squamo-columnar junction, SCI)eniz3 € & 3| T 7|

[ s 2 4
(A) v ( estrogen)
(B) % #% ( progesterone)
(C) ¥ #%% ( testosterone)
(D) #f Af( prednisolone)

TR AL S R FRAR S IR R B

(A) 2F BAER 3 J—”*?‘fi*u:bpﬁ

(B) %4t * benh i mie £iF 5 N0 2 BE7 1o
(C) #5117 5 @ % 14 2

(D) :bwf% BHATT F



44.

45.

46.

47.

48.

49.

Tl A U Y i

(D) iy F R HBRRAATH, #8518 - =0 5,)
(B) 7 &332 W3 247 cngf + A e 7 g% (8000-12000 )
(C) 7 10 ¥ g 3] 'z (transformation zone cells)® &EL%
(D) #k ¥ ¥ F 23 % wre, 3§ HBFFF, IR 5 Vg ?
(E) m by &
TG MR RO P R

(D) *FPHFBFFEFIFTHFL A DA% o

(B) *#3 Rp+ (HPV) A+ ¢ 5 cniop 51+ 2 - o

O *FPHH"RLEFRFT FHRHBDLES 2 0

(D) ARG HAEIER,FTUAY ETFFHE IS

E) B hs A+ gHmy Lagphe- -

a.

T»"Jﬁ?—‘ﬁ%nﬁg R R
(A Bivs#d#s o

(B

SEPRELIE -

(O *#5 RpHE R %
(D) Bk o

TR A P KRG E I > & R

®Y)
(B
©
D)

HPV & # 4 &
FEHHETRE
R R

e p\fﬂ;Hé 1 ,J o

- ;ljﬁ M+ ¥ |4 ;E;HE %"ﬁlé ﬁmpé’rd]L\Fy,_,p’Q —1;’24 \5‘{)

(D).

(©).

(©.
(D).

FRIAFIIATRAIER 2T %{55%&_,%%,?]”{7»%
75%/?‘]#5: ¥ * hE IR

S BT F R S T of R

g ErFLRY 3020 A4 F FaH Ik

SR RS Iy E R TR T T L

(D).
(B).
(©).
(D).

25
30 &
35 f
40

if



50. T A M ¥ I T B AT R g Y
(A). =faiap g ‘*i FrymarRa, AL F el BEARE
(B). %##kpr- 5w, 35EH3 FLme Ll
(C). ##MF 783 A\&#ﬂ/;‘ x fﬁ-ﬁé RS R
D). (EHRFFFROF), 7 P HHEER LSS HLT G
51. Leopold maneuvers #if & * %?ﬁvﬁf?
(DFF 4 5 F 29558 (Bheik % — B (C) krdk % = H (D) 4edk % = & o
52. M T H LS A EIE H 2 APHE LY
(A) 3-ﬁP+>51<Jﬁ(preterm lobor), P o & #5515 % §& 2_
(B) 5 #p X sl 2
(C) " »dio
(D) A= dim o
53. 3§ it Leopold maneuvers 1% — # 3% o
54. 3 f§ it Leopold maneuvers % = # 3% -
55. 3 f§ it Leopold maneuvers 1% = # 3% -
56. 3§ it Leopold maneuvers % w # 3% -
57. B¥magi%ie &7 * 2210 T chifw, r’—*ﬁ’ L2t
(A) Fer oz
(B) %~ *sep £ F ¢ 5 engaged
(C) F A P5i2cniRiz ™ =
D) =RIFTUASEILFL A o
58. . & ¥F i Leopold maneuvers (g ALY | B2 dF A IR DR R, § B
PN R LN
(D) waies3F
(B) & EFF + 7 IeH
O &EAT T e
(D) =+ % & -
59. #7532 5 B~z (breech presentation), & % #& & 1 Pa RNz 2 @2
(A) ¥ & e F (sacrum)
(B) # & Z 47 L3R e i
(C) ¥ &rpé2s¥%%  (umbilical cord)
(D) Az B

60. P5 82 s i 5 P, B B KR FFIEINY MBI Fse g 7
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(D) breech



